East Los Angeles College
Department of Mathematics

Math 262
Test 3

Evaluate the following improper integrals.
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4. Find the area of the surface obtained by rotating the curve about the x-axis.
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3. Set Up-Use Simpson’s rule with n=6 to estimate the arc length for the following curve.
Yy=xlnx for 1<x<3
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2. Determine the arc length for the following curve over the indicated interval.
Yy =In(cosx)for0 < x < /3
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5. Find the area of the surface obtained by rotating the curve about the y-axis.
y=1-x*for0<x<1
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6. Determine the equation of the line tangent to the curve at the indicated point.
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7. Find points on the curve where the tangent is horizontal.
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